PASSIVE FORM:

Povedi se spreminjajo po formuli:
TO BE + past participle (-ed ali 3. stolpec)

TENSE

ACTIVE

PASIVE

Pres.Simple T.

A mech. repairs a car

A car is repaired by mechanic

Pres. Simp. Cont.

A mech. is repairing a car

A car js being repaired by mechanic

Pres. Perf. Sim. T.

A mech. has repaired a car

A car has been repaired by mechanic

Pres. Perf. Cont.

A mech. has been repairing a car

Acar /

Past Simp. Tense

A mech. repaired a car

A car was repaired by mechanic

Past Tense Contin.

A mech. was repairing a car

A car was being repaired by mech.

Past Perf. Simple

A mech. had repaired a car

A car had been repaired by mechanic

Past Perf. Contin.

A mech. had been repairing a car

Acar /

Will Future Simple

A mech. will repair a car

A car will be repaired by mechanic

Will Futur. Contin.

A mech. will be repairing a car

Acar /

»going to« Future

A mech. is going to repair a car

A car js going to be repaired by mech

Future Perfect T.

A mech. will have repaired a car

A car will have been repaired by mec

Future Perf. Contin

A mech. will have been repairing a car

Acar /

Passive of if clauses:

Pres. Conditional

A mech. would repair a car

A car would be repaired by mechanic

Past Conditional

A mech. would have repaired a car

A car would have been repaired by m

Must A mech. must repair a car A car must be repaired by mechanic
Have to A mech. has to repair a car A car has to be repaired by mechanic
Can A mech.can repair a car A car can be repaired by mechanic




